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META & | KFXILET ¥ Hh & X % AR () mh

FEET | HPSE 1064 E3C1] 3,095 R17.6.30
RBIET | REIAT 557 —1 £ig 1,840 R17.6.30
REE™ | TEAMRAET 173 £ 3,509 R12.6.30
REIET T SEHT JIITE] 449—1 E$C1 1,021 R17.6.30
R BERR Hl 1397 E3C1] 971| R17.6.30
R T SEHT JIITE] 486—1 £ig 943| R17.6.30
REBIET BRR =0 87 —1 £ 1,186 R17.6.30
REBIET BRR = 38 E$C1 991| R17.6.30
REIET BRR =0 42 E$C1 998| R17.6.30
REIET BRR = 77—1 E$C1 981| R17.6.30
R BRR = 32—1 E3c1 991| R17.6.30
FEET BRR e 1503 3] 965/ R17.6.30
REIET BRR =0 47—1 £l 998| R17.6.30
R BRR = 114—1 &g 845 R17.6.30
REIET BRR =0 53—1 £l 479| R17.6.30
R TH BRR = 63—1 21 945| R17.6.30
REIET BRR =0 52—2 £l 476| R17.6.30
R TH BRR = 66—1 21 496| R17.6.30
R BRR =R 46 E3c1 995 R17.6.30
REIET BRR fLILE | 872—2 | £ 793| R17.6.30
BT BRR HILE | 872—1 £l 986| R17.6.30
FREH BRR =511 49—1 E3C] 941 R17.6.30
BT HRR =10 16—3 £l 485 R17.6.30
R BERR HIUE | 859—2 E3C1 991| R17.6.30
R BRR fILE | 859-3 =31 991| R17.6.30
R BERR HILFE 1460 E3C1] 1,206/ R17.6.30
FBETH HRR =10 59—1 £ 1,427 R17.6.30




.

META & | KFXILET ¥ & X% AR () mh

R BRR =10 64—1 E$C1 485 R17.6.30
R BRR = 141—1 &g 1,084 R17.6.30
R BERR =501 65—2 E3C1] 992 R17.6.30
REIET BRR = 99—1 E$C1 476| R17.6.30
R BERR =501 65— 1 E3C1] 989 R17.6.30
R BRR =R 33 E$C1 991| R17.6.30
R H BRR pIiiple 1571 E3C1] 1,428 R17.6.30
REIET BRR = 64—2 E$C1 456| R17.6.30
R BERR = 93—1 =31 1,190 R17.6.30
FEET BRR =21 98—1 3] 1,778| R17.6.30
R BERR = 152—1 E3c1 997| R17.6.30
R T BRR = 151—2 | 28 990| R17.6.30
R BRR = 96 E3c1 1,071 R17.6.30
FBIET BRR =] 85 E$C1 1,193 R17.6.30
R BRR =0 86 E$C1 1,190 R17.6.30
R TH BRR =0 111 21 902| R17.6.30
R BRR =R 43—1 E3c1 998 R17.6.30
R BRR = 54—1 &g 1,435/ R17.6.30
R BRR =R 41 E3c1 998 R17.6.30
R TH T SEHT JIIE 484—1 E$C1 792| R17.6.30
BT BRR HILTE 1440 £ 1,018 R17.6.30
FREH BRR H L 1441 E3C1 1,018/ R17.6.30
R BRR = 19—1 =31 928| R17.6.30
R T BRR =0 22 £ 601| R17.6.30
BT BRR =10 37 £ 988| R17.6.30
R T BRR =0 31 £ 638| R17.6.30
R BRR = 58—1 =31 957| R17.6.30
R BERR HILE | 972-1 E3C1] 920 R17.6.30




META & | KFXILET ¥ & X% AR () mh

FEH BRRR LR 881 E3C1] 991| R17.6.30
R BRR AR 882 =31 991| R17.6.30
R BERR =501 92—1 E3C1] 1,190 R17.6.30
REIET BRR =R 15—1 E$C1 856| R17.6.30
R BERR =501 11—1 E3C1] 694| R17.6.30
R BRR = 108—1 E$C1 244| R17.6.30
R BERR =501 12—1 E3C1] 786| R17.6.30
REIET BRR =] 190—1 E$C1 694| R17.6.30
R BRR = 102 E$C1 386| R17.6.30
R T T SEHT JIITE] 483—1 E$C1 1,293| R17.6.30
FREET BRR Sl 1502 &g 1,067| R17.6.30
R T BRR = 176 E$C1 1,242 R17.6.30
R BRR =0 177 E$C1 1,047 R17.6.30
FBIET BRR HILE 877 E$C1 991| R17.6.30
R T SEHT JIIE 460—1 E$C1 1,210 R17.6.30
R TH BRR =0 80—1 21 473| R17.6.30
R BRR =0 79—1 E$C1 496| R17.6.30
R BRR =21l 183 E3c1] 287| R17.6.30
R BRR =0 180 E$C1 1,047 R17.6.30
R BRR =21 192—1 &g 31| R17.6.30
BT BRR =10 113—1 £ 739| R17.6.30
FREH BRR =511 191—1 E3C1 396| R17.6.30
BT BRR =10 182 £ 360| R17.6.30
R BERR LR 876 E3C1 991| R17.6.30
R BRR = 20—1 =31 370 R17.6.30
R T BRR =0 21 £ 598| R17.6.30
FBETH BRR =10 82—1 E$C1 1,190 R17.6.30
R BERR =501 116—1 E3C1] 298| R17.6.30
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META & | KFXILET ¥ & X% AR () mh

R BERR =501 115—1 E3C1] 197| R17.6.30
FBETH BRR =10 80—3 E$C1 1,080 R17.6.30
R BERR =501 97 E3C1] 700 R17.6.30
FRBIET BRR HIIE 875 E$C1 991| R17.6.30
R BERR =501 67—1 E3C1] 985 R17.6.30
FBIET BRR =R 110 E$C1 1,213| R17.6.30
R BERR pIiiple 1572 E3C1] 826| R17.6.30
FRBIET BRR =R 74—1 E$C1 978| R17.6.30
R BRR =0 71—1 E$C1 985 R17.6.30
R T BRR =] 69—1 E$C1 982| R17.6.30
R BERR = 73—1 E3c1 979 R17.6.30
R T BRR =] 72—1 E$C1 982| R17.6.30
R BRR =0 70—1 E$C1 985 R17.6.30
FBIET BRR =] 178 E$C1 1,038 R17.6.30
R BRR =0 179 E$C1 1,041 R17.6.30
R TH BRR =0 10 2 591| R17.6.30
R BRR =R 13 E3c1 598 R17.6.30
R TH BRR =0 17 2 399| R17.6.30
FREET BRR =] 7 E3c] 396 R17.6.30
R TH BRR =0 9 2 396| R17.6.30
BT BRR =10 14 £ 598| R17.6.30
R T BRR EARITE(4 1504 £ 1,332| R17.6.30
BT BRR =10 90—1 £ 1,190 R17.6.30
FEETm | BETHT #48 974—1 E3C1 1,037| R12.6.30
FEET | BETHT 2944 =31 950 R17.6.30
FEETH | BETHRL 2996 E3C1 491| R17.6.30
FRIET | RBFES5A #mEAIL | 28371 &g 499| R17.6.30
FEET | JhER | FEAR | 1851 E3C1] 1,712| R17.6.30




METH 4 | KFXILE F Hh F X £ AR () mh

R | FRIFET 1644 28 1,100/ R17.6.30
FREET L YEHT 537 —1 =30 3011 R1256.30
R ch T F0H 382 28 829 R13.6.30
FEIETH LEHT LE I35 767—1 218 1,624 R13.6.30
R EH ST SH 118—1 E3C] 949| R13.6.30
FEIET LEHT ek 150—1 E=c] 842| R13.6.30
R H ST eI 811—2 E3C] 1,014 R13.6.30
FEIETH T #H 194—1 218 1,420 R13.6.30
R ch T gz 343—1 £ 1,815 R13.6.30
R LEHT 53 110—1 E=c] 960| R13.6.30
FREET ST SH 129—1 E3C] 956| R13.6.30
R LEHT LE I 823—1 E=c] 1,400 R13.6.30
R T ST L 790—1 &g 758| R13.6.30
R LEHT LE I 756—1 E=c] 976/ R13.6.30
REIET ) 2618 E3C] 839| R17.6.30
FEH 1L E BT 2619 &g 840| R17.6.30
FREET S FHET VAV 184—1 E3C] 967| R17.6.30
R S FHET AN 172—1 21 1,019 R17.6.30
R BT #5mH 176—2 Epe 1,370 R17.6.30
PosT | ST 5% |51—1-A| 28 166D 55 R17.630
FEET == 4469—11| =i 1,730 R12.6.30
R == 4463—2 | 215 741 R12.6.30
FoET | FMESE 10467171 24 2362| R126.30
R =FNET 1439 285 3,029| R12.6.30
REIET | IREIE 4083 Zig 2,386| R17.6.30
R | REIET 4031 285 5798| R17.6.30
FEE™ Bh RET 438 218 4,125 R17.6.30
R HE e BT 803 28 3,013 R17.6.30




HETA 2 | KFXILE ¥ 1 & 1#h X R =
REET AHAI_TE 783—1 E$C1 3,398/ R12.6.30
FBg™ AEAF_TE 784—1 E$C1 3,393| R12.6.30
REE™ HAEHET—TH 756—1 E3C1] 3487 R12.6.30
REIET AEHET=TH 762—1 31 2,959| R12.6.30
FEGT AHMAN=TE 322—1 £ 1,469 R12.6.30
FBg™ AEA_TE 786—1 213 1,213| R12.6.30
REE™T HAEHET—TH 788—1 E3C1] 1,635/ R12.6.30
FEIET | REIET 2519—2 | £ 1,613 R12.6.30
R Y2 CIET e 155 E$C1 1,228/ R17.6.30
R T Y& O ET Rk 207—1 E$C1 1,396 R12.6.30
R YECET e 156 £ 1,720 R12.6.30
FEET Y& O HT PR 684—1 3] 1,077 R17.6.30
R = FHT 2093—1 E3c1 544 R17.6.30
FEET = Fney 2093—2 | £ 979 R17.6.30
FEE™ BKRE AE® 28 3] 5,097| R13.6.30
R TH icksd) 714 2 2,891 R12.6.30
FBE™ | FEE A 23—1 E$C1 1,853| R17.6.30
FeE™ | EER—TH 766 2 1,511 R17.6.30
FPig™ | EEE—TH 764 E$C1 1,684| R17.6.30
FeE™ | EER—TH 765 2 2,139| R17.6.30
Feg™ | EEE—TH 454 £ 1,164| R17.6.30
FeE™ | EEE—TH 126—1 £ 2,348 R17.6.30
Feg™ | EEE—TH 115 £ 1,322| R17.6.30
FEuET | EER—TH 524—1 E3C1 3,550/ R12.6.30
FBE™ AEA=TE 2770 £ 1,824| R12.6.30
REIG™T AEHET=TH 1831—A | & 4”90)223 R12.6.30
Feg™ | EEET—TH 550—4 E$C1 386| R12.6.30
FEET | EE—TH 550—3 E3C1] 387| R12.6.30




MEAE | KFXILE F Hh X% AR () mh
FeET |EER—TH 1483 28 2,031| R12.6.30
FeGT | EEE—TH 485 £ 2,511 R12.6.30
FEET | EEE—TH 486 E3C] 2,749| R12.6.30
FET | EE=TH 1469—1 &g 921| R12.6.30
FEET |EEE=TH 1481 E3C] 1,717| R12.6.30
FEGT | S RET—TH 1473 &1 1,581 R17.6.30
FEBTH | BFEFSA J\IRE | 1055—1 E3C] 1,258 R17.6.30
FEET | HBFREA J\RHB | 1099—-1 | =i 2,434| R17.6.30
FEETH | BFESA ARB | 1112—2 | 28 1,302 R17.6.30
R #a)1 BT 977 &g 1,587| R17.6.30
FREET #0111 BT 981 E3C] 314| R17.6.30
FEE™ #A)1IE7 993 & 3,018 R17.6.30
R T Fe ST 107—1 &g 438 R12.6.30
FEE™ e ST 108—1 & 1,108| R12.6.30
FEE™ 2 S ET 109—1 28 446| R12.6.30
FEE™ e ST 58—1 245 956/ R12.6.30
FREET Fee ST 59—1 E3C] 838| R12.6.30
FEE™ TRERT NE 984 —1 245 1,266 R17.6.30
FEE™ T EHRT NE 985—1 28 1,252 R17.6.30
FEE™ T EHT gy 96—2 245 495 R17.6.30
R TERT ]E 96—3 £ 495 R17.6.30
FEE™ TEAT NAZE | 821-1 285 1,501 R17.6.30
FEET T &7 NA®R | 318—1 E3C 663| R17.6.30
FEE™ T EHT &8 744 285 1,371 R17.6.30
FEET | BETHRL 3005 &g 1,703| R13.6.30
FEETH | HEERT AT 793—1 E3C] 942| R17.6.30
FeET | BERE AT4H 789—1 218 410 R17.6.30
FEETH | HEXKT AT 790 E3C] 436 R17.6.30




META & | KFXILET ¥ & X% AR () mh

FET | R/MRIFHE 941—1 E3C1] 708| R17.6.30
FEIET | RAMRAHE 941—2 =31 910 R17.6.30
RBET | R/AMRAHE 936 E$C] 3,693| R17.6.30
REIET FFHET 861 E$C1 4,727| R12.6.30
FEET | BE/IMRIGHE 499—3 E3C1] 1,018| R12.6.30
G | FE/IMRAHE 405—2 | =13 625 R12.6.30
FEET | /MR 225—1 E3C1] 1,757| R12.6.30
G | FE/IMRAHE 405—1 E$C1 2,474| R12.6.30
R ZEHHET 2304 &g 752| R17.6.30
FEET A AT 2303—2 | =M 1,146/ R17.6.30
R ZEHHET 2305 &g 1,581 R17.6.30
FEET A AT 2299—-1 | =& 959 R17.6.30
R ZEHHET 2302 &g 283| R17.6.30
FEET = Fney 2366—21| =i 1,024| R17.6.30
R = FOHET 2427—15| =21 844| R17.6.30
R TH ZNBEET 2352 2 1,981 R17.6.30
RBET | LHEARARET 2330 E$C1 2,344 R17.6.30
FREET | THEARHE 943—-5 E3c1] 247 R17.6.30
R = F0HT 2322 E$C1 2,266 R17.6.30
R TH ZABET 2353 2 3,200/ R17.6.30
FEET B ST 702—1 215 2,976| R17.6.30
R T ZEEET 20 £ 1,731 R17.6.30
FEIET | THEKET 943—6 &g 250 R17.6.30
R ZYEET 495—1 E3C1 3,361| R17.6.30
BT 2 ST 460 £ 2,115 R17.6.30
R T FE ST 421 £ 1,410 R17.6.30
FEET B ST 696—1 25 2,976| R17.6.30
R = FAT 2366—22| £ 971| R17.6.30




R

META & | KFXILET ¥ & X% AR () mh

FEIET | LHEARE 2631 E3C1] 1,257| R17.6.30
FBETH 2 ST 715—1 E$C1 2,894| R17.6.30
R H S YR ET 2199 E3C1] 1,129 R17.6.30
FBiETH = F0HT 3209—21| % 1,975 R17.6.30
R = F0HT 2434 £ 1,466 R17.6.30
FRBiETH =FnEy 2435 E$C1 1,999 R17.6.30
R = F0HT 2137—1 | & 2,362 R17.6.30
REIET A< BAHET 2350 E$C1 964| R17.6.30
R Fe ST 731—1 &g 2,976| R17.6.30
R T FE ST 1700—1 | &1 2,633| R17.6.30
R Fe ST 713—1 &g 2,896| R17.6.30
FEIET | RS KifaT | 2028—1 | £ 1,386/ R17.6.30
FEET | REIIET KE@gT | 20271 =31 412| R17.6.30
FEET | RS 3513 3] 1,855 R17.6.30
R B ET 43—1 E$C1 701| R17.6.30
FEIET | EHEARARE 2630 E3c1] 787| R17.6.30
R FE ST 641—1 E$C1 2,976/ R17.6.30
REE™ | LHEARARET 651—1 21 2,331 R17.6.30
R T mEWA | 481—1 &g 793| R13.6.30
R TH sl FmIA | 482—1 E$C1 675 R13.6.30
BT el FEIA | 484—1 £ 2,430| R13.6.30
R T Y2 CIET R 886—1 £ 1,200 R17.6.30
BT & O ET RE |178—1—A| £H | 68705%553| R17.6.30
R YE CET At 148—1 E3C1 1,673 R17.6.30
R R HT $#H 203—1 =31 531 R17.6.30
R T sl #H 189—1 £ 1,169| R17.6.30
FBETH el EX 113 E$C1 792| R17.6.30
R R T BR 123—1 E3C1] 714| R17.6.30




META & | KFXILET ¥ & X% AR () mh

R Y2 CIET YR 682—2 | =2 1,222| R17.6.30
R HhHT - 127 =31 907 R17.6.30
R T BR 121—1 E3C1] 949 R17.6.30
REIET el EX 128 E$C1 990 R17.6.30
R T BR 122—1 E3C1] 871| R17.6.30
FBIET FEFeT T 941 E$C1 3,009| R17.6.30
R e 1o BT 940—1 E3C1] 3,020 R17.6.30
FRBIET FEFET T 1071—2 | &8 1,782| R17.6.30
R e 1o BT 790—1 &g 2,884 R17.6.30
FEET e e BT 836—1 &g 2,950| R17.6.30
R T A ET 18—2 &g 1,363 R17.6.30
R T T fi BT 18—1 E$C1 1,872| R17.6.30
FEET | FRIFET 823—4 &g 1,001 R17.6.30
FoaT | BRFE | ELAK | 2231 &g 1,285 R17.6.30
FEuET | FRIFET 815—3 E3c1 967| R17.6.30
FBET | FRIRE 823—2 | %M 1,038 R17.6.30
FEuET | FRIFE [SEN 1241—1 E3c1 959 R17.6.30
FEuET | FRIFE 823—3 E3c1] 955 R17.6.30
g™ | FRIRE i 972 E$C1 991| R17.6.30
FBET | FRIRE RE 970 2 991| R17.6.30
FuET | FRIFET R 971 =31 991 R17.6.30
FEuET | FRIFE EHI 1128 E3C1 1,190 R17.6.30
REIET | TEFHE KA 87 E3c] 1,080 R17.6.30
FEEH | KIESFHE T#H 182—1 E3C1 972 R17.6.30
FET | FRIFET SEN 1231—1 =31 959 R17.6.30
FEuET | FRIFE A 1087 —1 E3C1 1,070 R17.6.30
FEuET | FRIFET 816—4 =31 907 R17.6.30
FEET | FRIFE A 1086—1 E3C1] 880 R17.6.30
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FEET | K RIFE SR 1085—1 E3C] 1,069 R17.6.30
REET | KRIFE SR 1089—1 &g 906| R17.6.30
FEET | K RIFE SR 1084—1 E3C] 999| R17.6.30
FEET | FRIFET KET 1173—1 | %8 1,348| R17.6.30
FEET | K RIFE RE 1013—1 E3C] 724| R17.6.30
FoET | FRIFE = 1207—1 | %8 966/ R17.6.30
REIET | KIESFH T#H 220 E3C] 991| R17.6.30
FEGT | TEFE B/t 49—1 218 1,313 R17.6.30
REET | TEFHE NS 188—1 &g 722| R17.6.30
FEIET | TEFHE NIE 271—-3 & 330| R17.6.30
REET | TEFHE NS 270—1 &g 451 R17.6.30
FEIET | TEFHE NIE 271—1 E=c] 433 R17.6.30
REIET | KIESFH T#H 217—1 E3C] 844| R17.6.30
FEIET | TEFHET NIzE 275—1 &g 957| R17.6.30
RS | KRIFE 815—4 E3C] 960| R17.6.30
FoET | FRIFE ST 1105 245 991 R17.6.30
FEET | KRIFE ESEN 1213—1 E3C] 982 R17.6.30
FEETH | BRIFE | ELAR | 7741 30 972| R17.6.30
FREET &y R 217—1 E3C] 886| R17.6.30
FREIET KIBHT A9 93-—1 2 951 R17.6.30
FogT | ERIFE 836—4 £ 785 R17.6.30
REE™ 5 5K HET R 1108 2y 991 R17.6.30
FEIGT | KEFHE T#HE | 2131 £ 949| R17.6.30
REIET | KIESFH T#H 212—1 E3C] 972| R17.6.30
REET | KRIFE =R 1223—1 E3C 962| R17.6.30
FEET | K RIFE =R 1239—1 £ 959| R17.6.30
FeaT | ERIFE 7 986 £ 991 R17.6.30
FoET | RRIFE =15 610 28 1,540 R17.6.30




i &

METHE | KFEXITE ¥ 1 & X £ R =

FBET | TFEFHE BA 4 9 213 766| R17.6.30
R ITES:) PR 1966—1 | £ 1,053 R12.6.30
R TES:) 2745 E3C1] 2,276| R12.6.30
FRBIET 1IEX:) 2941 E$C1 830| R17.6.30
R TES:) 2942 E3C1] 1,116/ R17.6.30
R #a)1 BT 1002 &g 540 R17.6.30
R F8J1ET 947 E3C1] 837| R17.6.30
FRBIET 1IEX:) 3057 213 200| R17.6.30
R BR4 HT & 64 E3c1 793| R17.6.30
R T 1IEX:) 3058 21 4,195 R17.6.30
R LI E BT 3064 &g 1,200 R17.6.30
R T SEHT LEIR 648—1 21 2,019| R17.6.30
R ek $#H 136—1 =31 1,148/ R17.6.30
FBIET SEHT 53 142—1 E$C1 937| R17.6.30
R LEHT SH 141—1 E$C1 937| R17.6.30
R TH T F1H 291—1 2 1,639 R17.6.30
R LEHT SH 103—1 E$C1 1,078 R17.6.30
R S FHHET h5H 154—1 &g 933| R17.6.30
R Sl #5H 180—2 E$C1 1,166| R17.6.30
R TH SEHT eEix 102—1 2 2,113| R17.6.30
FEIET el #5H 216—1 £ 965| R17.6.30
R T T #H 215—1 £ 579| R17.6.30
FEIET el #5H 214—1 £ 1,350 R17.6.30
R TES:) 2958 E3C1 1,187| R12.6.30
FEIET el #5H 240—1 £ 820| R7.10.31
R T SEHT ki 164—1 £ 794| R12.6.30
RSB SEHT e Eii 178—1 213 1,429| R12.6.30
R SEHT eEix 163—1 213 670| R12.6.30
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HETA 2 | KFXILE ¥ #h & 1#h X R =

R SEHT LE I 777—2 E$C1 883| R12.6.30
R SEHT i 701—1 =31 683| R12.6.30
R SeT e 698—1 E3C1] 1,976 R12.6.30
FRBIET SEHT SH 179—1 E$C1 956| R12.6.30
R e a7 BT 1046—1 E3C1] 2,259 R17.6.30
FBIET FEFeT T 121 E$C1 522| R17.6.30
R e 1o BT 120 E3C1] 480| R17.6.30
FRBIET FEFET T 119 E$C1 1,027 R17.6.30
FEET | REIIET 3217 =31 1,393 R17.6.30
FEET e far T 626—1 &g 271 R17.6.30
R Ei324) th H 27 £ 1,627| R13.6.30
R T EFET 29—17 E$C1 784| R17.6.30
R BAS MaFAR | 986—1 E$C1 956| R12.6.30
FBIET R YA 627 E$C1 1,704| R12.6.30
FEIET | BFE5A it 300—1 E3c1 935 R17.6.30
FEET | BFE5A it 301—1 E3c1] 935 R17.6.30
R i) 805—1 E$C1 2,500] R17.6.30
R TH FRfeT BT 805—3 2 514| R17.6.30




